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ANSWER KEY 
 

I. COMPREHENSION: (10 marks) 

A) Table Completion (02 marks) 

1. 18 months after it was founded    2. July 14 (2024)   3. (By) 2023   4. In 2022 
 
B) Discrimination (Selection of Functions) (02 marks) 
5.-6.-7.-8. b) Assistance with the prevention of security risks; c) Identification of app users in the cloud; 

d) Identification of users with login risks; h) Assistance against hacking (The grader shall grant the 
full score no matter the order by which the answers arranged) 
 

C) Statement Completion (03 marks) 

9. New vulnerabilities are created by the fact that businesses will spend around $300bn worldwide 
on cloud services / (the) spending (of) around $300bn worldwide on cloud services. 

10. In 2023, Gartner compared cloud-security and computer-security products. They concluded that 
computer-security products sell slower/at a slower rate/less fast than cloud-security products. 
11. The main difference between Wiz and Palo Alto Networks or Fortinet is that Wiz doesn’t sell 
firewalls and other safeguards for older IT systems. 

 
D) Scanning. (03 marks) 
12. duplication is widespread (line 18)  13. IT managers unable to tell which tools work and which 
do not  14. Nikesh Arora, boss of Palo Alto Networks, admitted (that “customers are facing 
spending fatigue”) 

 
II. LINGUISTIC and COMMUNICATIVE COMPETENCE: (06 marks) 

E) Cloze Test (02 marks) 

15. that’s conducted    16. supply chain        17. Finished products           18. procurements 
 

F) Skeleton Dialogue (02 marks) 

19. Which one are you talking about?     
20. Oh, I wasn’t there.   
21. I haven’t seen him since yesterday.     
22. Well, I’m not an accountancy expert but I’m not surprised at all. 

 
G) Phrase Set Unscrambling. (02 marks) 
23. Bankrupt: A person is bankrupt when they cannot pay their debts and are not able to reach an 
agreement with their creditors. (Note that the use of ‘they-their’ has nothing to do with number.)  
24. Creditor: A creditor is a person or business from whom you purchase a good or service with an 
agreement to pay at a later date. 

 
III. WRITING (04 marks) 

 
Please, grade this section according to the following scheme: 

Relevance of ideas    02 marks  
Coherence    01 mark  
Language Use   01 mark 
Originality and Creativity  01 mark 


